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Expresse na forma trigonométrica o produto 𝑧1𝑧2: 

1.  

𝑧1 = 3 (𝑐𝑜𝑠
𝜋

5
+ 𝑖 𝑠𝑒𝑛

𝜋

5
) 

 

𝑧2 = 4 (𝑐𝑜𝑠
2𝜋

5
+ 𝑖 𝑠𝑒𝑛

2𝜋

5
) 

 

 

 

 

 

 

 

 

2.  

𝑧1 = 6 (𝑐𝑜𝑠
3𝜋

10
+ 𝑖 𝑠𝑒𝑛

3𝜋

10
) 

 

𝑧2 = 5 (𝑐𝑜𝑠
2𝜋

10
+ 𝑖 𝑠𝑒𝑛

2𝜋

10
) 

 

 

 

 

 

 

 

 

 

3.  

𝑧1 = 5(𝑐𝑜𝑠 30° + 𝑖 𝑠𝑒𝑛 30°) 

 

𝑧2 = 2(𝑐𝑜𝑠 60° + 𝑖 𝑠𝑒𝑛 60°) 

 

 

 

 

 

 

 

 

4. Calcule 𝑧1𝑧2𝑧3, sendo dados: 

𝑧1 = 2 (𝑐𝑜𝑠
𝜋

5
+ 𝑖 𝑠𝑒𝑛

𝜋

5
) ; 𝑧2 = √3 (𝑐𝑜𝑠

3𝜋

5
+ 𝑖 𝑠𝑒𝑛

3𝜋

5
) 

e  𝑧3 = 2√3 (𝑐𝑜𝑠
6𝜋

5
+ 𝑖 𝑠𝑒𝑛

6𝜋

5
). 
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Dado 𝑧 = √2 (𝑐𝑜𝑠
𝜋

4
+ 𝑖 𝑠𝑒𝑛

𝜋

4
), calcule as potências: 

5. 𝑧2 = 

 

 

 

 

 

6. 𝑧5 = 

 

 

 

 

 

 

Calcule: 

7. (1 + 𝑖)8 = 

 

 

 

8. (−1 + √3 𝑖)
3

= 

 

 

 

 

 

 

 

Dados: 

 𝑍 = 6 (𝑐𝑜𝑠
5𝜋

6
+ 𝑖 𝑠𝑒𝑛

5𝜋

6
) ; 𝑊 = 3 (𝑐𝑜𝑠

𝜋

4
+ 𝑖 𝑠𝑒𝑛 

𝜋

4
 )  

Calcule: 

9. 
𝑍

𝑊
 

 

 

 

 

 

 

 

 

 

10. 
𝑊

𝑍
 

 

 

 

 

 

 

 

 

 

 

 
 
 
 

Gabarito: 
1.  

12 (𝑐𝑜𝑠
3𝜋

5
+ 𝑖 𝑠𝑒𝑛 

3𝜋

5
) 

2.  

30 (𝑐𝑜𝑠
𝜋

2
+ 𝑖 𝑠𝑒𝑛 

𝜋

2
) 

 

3. 10𝑖 
4. 12 
5. 2𝑖 
6. −4 − 4𝑖 
7. 16 
8. 8 

 
 

 
9.  

2 (𝑐𝑜𝑠
7𝜋

12
+ 𝑖 𝑠𝑒𝑛 

7𝜋

12
) 

10.  
1

2
(𝑐𝑜𝑠

17𝜋

12
+ 𝑖 𝑠𝑒𝑛 

17𝜋

12
) 


